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|1 |AT1000155 | IMIT, IMAPA, $IMAPA, SIMIT |MBAC=9.63,NP0=9.90,NPAlegereBac=9.60, NPOBAC=9.40 [9.63 | | 1]
|2 |AT1000291 | IMAPA, IMIT |[MBAC=9.45,NP0=9.75,NPAlegereBac=9.80,NPOBAC=8.80 [9.45 | | [ 1]
|3 |AT1000298 | IMIT, IMAPA, $SIMIT |IMBAC=9.41,NP0=9.45,NPAlegereBac=9.05, NPOBAC=9.75 19.41 | | 1]
| 4 |AT1000226 | IMIT, IMAPA, $IMIT, $SIMAPA |MBAC=9.41,NP0O=8.95,NPAlegereBac=9.75,NPOBAC=9.55 19.41 | | 11
|5 |AT1000173 | IMIT, $IMIT, IMAPA, SIMAPA |[MBAC=9.35,NP0=9.85,NPAlegereBac=10.00, NPOBAC=9.30 [9.35 | | | 1]
|6 |AT1000078 | IMIT, $IMIT |IMBAC=9.33,NP0=9.55,NPAlegereBac=9.75,NPOBAC=8.70 [9.33 | | [1]
|7 |AT1000107 | IMIT |[MBAC=9.33,NP0=9.00,NPAlegereBac=9.60,NPOBAC=9.40 [9.33 | | | 1]
| 8 |[AT1000223 | IMIT, IMAPA |[MBAC=9.33,NP0=8.80,NPAlegereBac=10.00,NPOBAC=9.20 [9.33 | | [ 1]
|9 |AT1000021 | IMIT, $IMIT IMBAC=9.25,NP0=9.95,NPAlegereBac=9.55,NPOBAC=8.25 [9.25 | | [1]
|10 |[AT1000256 | IMIT, $IMIT, IMAPA, SIMAPA |[MBAC=9.23,NP0=9.20,NPAlegereBac=9.60,NPOBAC=8.90 [9.23 | | [ 1]
|11 |AT1000232 | IMIT, $IMIT |IMBAC=9.15,NP0=9.50,NPAlegereBac=8.85,NPOBAC=9.10 [9.15 | | [1]
|12 |AT1000032 | IMIT, $IMIT, IMAPA, SIMAPA |IMBAC=9.13,NP0=9.65,NPAlegereBac=9.60,NPOBAC=8.15 19.13 | | 1]
[13 |[AT1000169 | IMIT, SIMIT |[MBAC=9.11,NP0=8.85,NPAlegereBac=9.80,NPOBAC=8.70 [9.11 | | | 1]
|14 |AT1000270 | IMAPA, IMIT IMBAC=9.10,NP0=9.85,NPAlegereBac=8.40,NPOBAC=9.05 [9.10 | | [1]
|15 |[AT1000149 | IMAPA, IMIT |[MBAC=9.05,NP0=8.60,NPAlegereBac=9.45,NPOBAC=9.10 [9.05 | | [ 1]
|16 |[AT1000229 | IMIT, IMAPA, $IMIT, SIMAPA |[MBAC=9.05,NP0=8.45,NPAlegereBac=9.80,NPOBAC=8.90 [9.05 | | [ 1]
|17 |AT1000203 | IMIT, IMAPA, $SIMIT, $SIMAPA |MBAC=8.98,NP0=8.70,NPAlegereBac=9.25,NPOBAC=9.00 18.98 | | 1]
|18 |AT1000004 | IMAPA, $IMAPA, IMIT, $IMIT |[MBAC=8.93,NP0=9.55,NPAlegereBac=9.75,NPOBAC=7.50 [8.93 | | [ 1]
[19 |AT1000293 | IMAPA, IMIT |IMBAC=8.93,NP0=9.45,NPAlegereBac=9.70,NPOBAC=7.65 [8.93 | | [1]
[20 |AT1000220 | IMIT, IMAPA IMBAC=8.93,NP0=8.75,NPAlegereBac=8.95,NPOBAC=9.10 [8.93 | | [1]
|21 |AT1000042 | IMIT, SIMIT |[MBAC=8.91,NP0=8.65,NPAlegereBac=9.25,NPOBAC=8.85 [8.91 | | | 1]
|22 |AT1000263 | IMIT |IMBAC=8.88,NP0=9.20,NPAlegereBac=9.00,NPOBAC=8.45 [8.88 | | [1]
|23 |[AT1000056 | IMIT, $IMIT, IMAPA, SIMAPA |[MBAC=8.85,NP0=9.65,NPAlegereBac=8.90,NPOBAC=8.00 [8.85 | | | 1]
|24 |AT1000008 | IMIT |IMBAC=8.83,NP0=8.95,NPAlegereBac=9.00,NPOBAC=8.55 [8.83 | | [1]
[25 |AT1000125 | IMIT, $IMIT |IMBAC=8.80,NP0O=9.35,NPAlegereBac=9.10,NPOBAC=7.95 [8.80 | | [1]
|26 |[AT1000033 | IMAPA, IMIT |[MBAC=8.80,NP0=8.50,NPAlegereBac=9.10,NPOBAC=8.80 [8.80 | | [ 1]
|27 |[AT1000011 | IMIT, SIMIT |[MBAC=8.78,NP0=9.10,NPAlegereBac=9.95,NPOBAC=7.30 [8.78 | | [ 1]
[28 |AT1000009 | IMIT, $IMIT, IMAPA IMBAC=8.75,NP0=9.05,NPAlegereBac=8.25,NPOBAC=8.95 [8.75 | | [1]
|29 |AT1000052 | IMIT, $IMIT, IMAPA, SIMAPA |[MBAC=8.75,NP0=8.65,NPAlegereBac=9.30,NPOBAC=8.30 |8.75 | | | 1]
[30 |AT1000295 | $IMIT |IMBAC=8.75,NP0O=7.95,NPAlegereBac=10.00, NPOBAC=8.30 [8.75 | | [1]
|31 |AT1000086 | IMIT |[MBAC=8.73,NP0=8.35,NPAlegereBac=9.00,NPOBAC=8.85 [8.73 | | [ 1]
|32 |AT1000236 | IMIT, SIMIT |[MBAC=8.71,NP0O=9.15,NPAlegereBac=8.35,NPOBAC=8.65 [8.71 | | [ 1]
|33 |AT1000137 | IMIT |[MBAC=8.71,NPO=7.80,NPAlegereBac=9.70,NPOBAC=8.65 [8.71 | | [ 1]
|34 |[AT1000066 | IMAPA, IMIT, $SIMAPA, $IMIT |[MBAC=8.70,NP0O=9.15,NPAlegereBac=9.35,NPOBAC=7.60 [8.70 | | [ 1]
|35 |AT1000281 | IMIT, IMAPA |IMBAC=8.68,NP0=8.55,NPAlegereBac=9.10,NPOBAC=8.40 [8.68 | | [1]
|36 |AT1000017 | IMIT, IMAPA, $IMIT, $SIMAPA |MBAC=8.63,NP0=9.35,NPAlegereBac=8.15, NPOBAC=8.40 |8.63 | | 1]
|37 |AT1000044 | IMIT, SIMIT |[MBAC=8.63,NP0=9.30,NPAlegereBac=9.60,NPOBAC=7.00 |8.63 | | [ 1]
|38 |AT1000193 | IMIT, IMAPA, $SIMIT, $SIMAPA |MBAC=8.61,NPO=8.40,NPAlegereBac=9.55, NPOBAC=7.90 [8.61 | | 1]
|39 |[AT1000130 | IMIT, IMAPA |[MBAC=8.56,NP0=8.90,NPAlegereBac=9.70,NPOBAC=7.10 |8.56 | | | 1]
|40 |[AT1000158 | IMAPA, IMIT, $SIMAPA, $SIMIT |[MBAC=8.56,NP0=8.55,NPAlegereBac=9.00,NPOBAC=8.15 |8.56 | | [ 1]
|41 |AT1000142 | IMIT, IMAPA IMBAC=8.56,NP0O=8.45,NPAlegereBac=8.05,NPOBAC=9.20 [8.56 | | [1]
|42 |AT1000014 | IMIT, IMAPA, $IMIT, SIMAPA |[MBAC=8.55,NP0O=7.95,NPAlegereBac=8.85,NPOBAC=8.85 [|8.55 | | | 1]
|43  |AT1000013 | IMIT, IMAPA |IMBAC=8.55,NP0=7.70,NPAlegereBac=9.65,NPOBAC=8.30 [8.55 | | [1]
|44 |AT1000070 | IMIT, IMAPA, $IMIT, $SIMAPA |MBAC=8.53,NP0=7.05,NPAlegereBac=9.60, NPOBAC=8.95 [8.53 | | 1]
|45 |AT1000131 | IMIT, IMAPA, $IMIT, SIMAPA |[MBAC=8.48,NP0=9.80,NPAlegereBac=7.65,NPOBAC=8.00 |8.48 | | [ 1]
|46 |AT1000195 | IMIT, $IMIT |[MBAC=8.48,NPO=7.65,NPAlegereBac=9.10,NPOBAC=8.70 |8.48 | | [ 1]
| 47 |AT1000235 | IMIT, IMAPA |[MBAC=8.46,NP0O=7.90,NPAlegereBac=8.85,NPOBAC=8.65 |8.46 | | | 1]
|48 |[AT1000239 | IMIT, SIMAPA, IMAPA |[MBAC=8.45,NP0=9.10,NPAlegereBac=9.35,NPOBAC=6.90 |8.45 | | [ 1]
|49 |AT1000301 | IMIT |IMBAC=8.45,NP0=8.45,NPAlegereBac=9.40,NPOBAC=7.50 [8.45 | | [1]
|50 |AT1000258 | IMIT, $IMIT, IMAPA, $SIMAPA |[MBAC=8.43,NP0=9.35,NPAlegereBac=8.25,NPOBAC=7.70 [8.43 | | | 1]
|51 |AT1000299 | IMIT, SIMIT |[MBAC=8.41,NP0=9.35,NPAlegereBac=8.50,NPOBAC=7.40 [8.41 | | [ 1]
|52  |AT1000167 | IMIT, $IMIT, IMAPA, SIMAPA |MBAC=8.33,NP0=8.85,NPAlegereBac=8.30, NPOBAC=7.85 [8.33 | | 1]
|53 |[AT1000100 | IMIT, IMAPA |[MBAC=8.30,NP0O=9.15,NPAlegereBac=8.00,NPOBAC=7.75 [8.30 | | [ 1]
|54 |AT1000071 | IMIT, IMAPA |IMBAC=8.30,NP0O=8.65,NPAlegereBac=8.05,NPOBAC=8.20 [8.30 | | [1]
|55 |AT1000244 | IMIT, $SIMAPA, SIMIT, IMAPA |[MBAC=8.30,NP0=8.25,NPAlegereBac=8.85,NPOBAC=7.95 [8.30 | | | 1]
|56 |[AT1000179 | IMAPA, IMIT, $SIMAPA, $SIMIT |[MBAC=8.23,NP0=8.35,NPAlegereBac=9.65,NPOBAC=6.70 [8.23 | | [ 1]
|57 |AT1000037 | IMIT, $IMIT, IMAPA, SIMAPA |MBAC=8.21,NP0O=8.30,NPAlegereBac=8.15,NPOBAC=8.20 [8.21 | | 1]
|58 |AT1000296 | IMIT, IMAPA, $IMIT, $SIMAPA |[MBAC=8.18,NP0=9.10,NPAlegereBac=8.95,NPOBAC=6.50 [8.18 | | | 1]
|59 |AT1000190 | IMIT, IMAPA, $SIMAPA, $SIMIT |MBAC=8.18,NPO=8.15,NPAlegereBac=8.65, NPOBAC=7.75 18.18 | | 1]
|60 |AT1000133 | IMIT, $IMIT IMBAC=8.16,NP0O=7.65,NPAlegereBac=8.80,NPOBAC=8.00 [8.16 | | [1]
|61 |AT1000287 | IMIT, IMAPA, $IMIT, SIMAPA |[MBAC=8.16,NP0O=7.55,NPAlegereBac=8.90,NPOBAC=8.05 [8.16 | | [ 1]
|62 |[AT1000115 | IMIT, IMAPA |[MBAC=8.13,NP0O=8.85,NPAlegereBac=8.30,NPOBAC=7.25 [8.13 | | [ 1]
|63 |AT1000098 | IMIT, $SIMIT |[MBAC=8.13,NP0=8.20,NPAlegereBac=8.45,NPOBAC=7.75 [8.13 | | | 1]
| 64 |[AT1000159 | IMIT, IMAPA |[MBAC=8.13,NP0O=8.15,NPAlegereBac=7.60,NPOBAC=8.65 [8.13 | | [ 1]
|65 |AT1000211 | IMAPA, IMIT, $IMIT, $SIMAPA |MBAC=8.08,NPO=7.45,NPAlegereBac=9.25,NPOBAC=7.55 [8.08 | | 1]
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|66 |AT1000045 | IMIT, IMAPA |[MBAC=8.06,NPO=7.80,NPAlegereBac=9.35,NPOBAC=7.05 |8.06 | | | 1]
|67 |AT1000148 | IMIT, SIMIT, IMAPA, SIMAPA |[MBAC=8.05,NP0=8.00,NPAlegereBac=9.05,NPOBAC=7.10 |8.05 | | | 1]
|68 |AT1000186 | IMIT, IMAPA, $IMIT, $SIMAPA |MBAC=8.01,NP0O=8.35,NPAlegereBac=9.05, NPOBAC=8.30 18.01 | | 1]
|69 |AT1000038 | IMIT, IMAPA |[MBAC=8.00,NP0O=8.40,NPAlegereBac=8.00,NPOBAC=7.60 |8.00 | | | 1]
|70 |AT1000183 | IMIT, IMAPA, $IMIT, SIMAPA |MBAC=7.96,NPO=8.30,NPAlegereBac=8.15, NPOBAC=7.45 |7.96 | | 1]
|71 |AT1000285 | IMAPA, IMIT, SIMAPA, SIMIT |[MBAC=7.96,NP0=8.00,NPAlegereBac=8.50,NPOBAC=7.40 |7.96 | | | 1]
|72 |AT1000145 | IMIT, IMAPA, SIMIT, SIMAPA |[MBAC=7.88,NP0O=7.05,NPAlegereBac=8.90,NPOBAC=7.70 |7.88 | | | 1]
|73 |AT1000215 | IMIT, $IMAPA, IMAPA, SIMIT |MBAC=7.86,NPO=7.40,NPAlegereBac=8.80,NPOBAC=7.40 |7.86 | | 1]
|74 |AT1000280 | IMIT, SIMIT |[MBAC=7.83,NP0=6.95,NPAlegereBac=8.15,NPOBAC=8.40 | 7.83 | | | 1]
| 75 |AT1000075 | IMIT, IMAPA, SIMAPA, SIMIT |[MBAC=7.81,NP0O=7.25,NPAlegereBac=8.85,NPOBAC=7.35 |7.81 | | | 1]
|76 |AT1000188 | IMIT, IMAPA, SIMIT, SIMAPA |[MBAC=7.76,NPO=7.35,NPAlegereBac=7.10, NPOBAC=8.85 | 7.76 | | | 1]
| 77 |AT1000214 | IMIT, SIMIT, IMAPA, SIMAPA |[MBAC=7.75,NPO=7.15,NPAlegereBac=8.05,NPOBAC=8.05 | 7.75 | | | 1]
|78 |AT1000172 | IMIT, $IMIT, IMAPA, SIMAPA |MBAC=7.73,NPO=7.55,NPAlegereBac=7.30,NPOBAC=8.35 |7.73 | | 1]
|79 |AT1000117 | IMAPA, SIMAPA |MBAC=7.71,NP0O=7.50,NPAlegereBac=8.95, NPOBAC=6.70 [7.71 | | 1]
|80 |AT1000288 | IMAPA, IMIT, SIMAPA, SIMIT |[MBAC=7.68,NP0O=6.05,NPAlegereBac=7.55,NPOBAC=9.45 |7.68 | | | 1]
|81 |AT1000269 | IMAPA, IMIT |[MBAC=7.66,NPO=7.80,NPAlegereBac=8.10,NPOBAC=7.10 |7.66 | | [ 1]
|82 |AT1000196 | SIMAPA |[MBAC=7.65,NP0=8.25,NPAlegereBac=6.60,NPOBAC=8.10 | 7.65 | | | 1]
|83 |AT1000273 | IMAPA, IMIT, SIMAPA, SIMIT |[MBAC=7.65,NPO=7.00,NPAlegereBac=8.15,NPOBAC=7.80 |7.65 | | | 1]
|84 |AT1000111 | IMIT, SIMIT |[MBAC=7.65,NP0O=6.85,NPAlegereBac=9.20,NPOBAC=6.90 |7.65 | | [ 1]
| 85 |AT1000138 | IMAPA, SIMAPA |[MBAC=7.63,NP0=6.80,NPAlegereBac=8.10,NPOBAC=8.00 |7.63 | | | 1]
|86 |AT1000046 | IMIT, SIMIT |MBAC=7.58,NP0=5.80,NPAlegereBac=9.15,NPOBAC=7.80 |7.58 | | [ 1]
|87 |AT1000105 | IMIT, SIMIT |[MBAC=7.56,NP0=8.85,NPAlegereBac=6.20,NPOBAC=7.65 |7.56 | | [ 1]
| 88 |AT1000022 | IMAPA, IMIT, SIMAPA, SIMIT |[MBAC=7.56,NP0=8.05,NPAlegereBac=8.40,NPOBAC=6.25 |7.56 | | | 1]
|89 |AT1000241 | IMIT, IMAPA, SIMIT |[MBAC=7.55,NP0=8.30,NPAlegereBac=9.10,NPOBAC=5.25 |7.55 | | [ 1]
|90 |AT1000274 | IMIT, SIMIT, IMAPA, $SIMAPA |[MBAC=7.55,NP0=8.30,NPAlegereBac=6.90,NPOBAC=7.45 | 7.55 | | | 1]
|91 |AT1000074 | IMIT, SIMIT, IMAPA, SIMAPA |[MBAC=7.55,NP0O=7.05,NPAlegereBac=8.25,NPOBAC=7.35 | 7.55 | | | 1]
|92 |AT1000102 | IMIT, $IMIT, IMAPA, SIMAPA |MBAC=7.51,NP0O=8.90,NPAlegereBac=6.80,NPOBAC=6.85 |7.51 | | 1]
|93 |AT1000192 | IMIT, IMAPA, SIMIT, SIMAPA |[MBAC=7.48,NP0=8.70,NPAlegereBac=7.60,NPOBAC=6.15 |7.48 | | | 1]
|94 |AT1000230 | $SIMIT, SIMAPA, IMIT, IMAPA |MBAC=7.43,NP0O=7.05,NPAlegereBac=8.90, NPOBAC=6.35 |7.43 | | 1]
| 95 |AT1000024 | IMIT, IMAPA, SIMIT, SIMAPA |[MBAC=7.38,NP0=8.75,NPAlegereBac=6.95,NPOBAC=6.45 |7.38 | | | 1]
|96 |AT1000198 | IMIT, IMAPA, SIMIT, SIMAPA |[MBAC=7.38,NP0=6.30,NPAlegereBac=7.45,NPOBAC=8.40 |7.38 | | | 1]
|97 |AT1000096 | IMAPA, IMIT, $IMAPA, SIMIT |MBAC=7.31,NPO=6.35,NPAlegereBac=8.10,NPOBAC=7.50 |7.31 | | 1]
| 98 |AT1000076 | IMIT, SIMIT, IMAPA, $SIMAPA |[MBAC=7.30,NPO=7.10,NPAlegereBac=7.65,NPOBAC=7.15 | 7.30 | | | 1]
|99 |AT1000089 | IMAPA, SIMAPA, IMIT, SIMIT |[MBAC=7.28,NP0=7.20,NPAlegereBac=7.65,NPOBAC=7.00 |7.28 | | | 1]
[|100 |AT1208004 | IMIT-MR, IMAPA-MR, IMIT, IMAPA, SIMIT, $IMAPA |MBAC=7.26,NP0O=7.90,NPAlegereBac=7.50, NPOBAC=6. 40 |7.26 | | MR [1]
|101 |AT1208005 | SIMIT, SIMAPA |[MBAC=7.25,NP0=8.00,NPAlegereBac=6.00,NPOBAC=6.00 | 7.25 | | RX | 1]
|102 |AT1000123 | IMAPA, SIMAPA |IMBAC=7.23,NP0O=7.55,NPAlegereBac=7.60,NPOBAC=6.55 |7.23 | | [ 1]
|103 |AT1000088 | IMIT, $IMIT, IMAPA, SIMAPA |MBAC=7.21,NP0O=7.30,NPAlegereBac=8.05, NPOBAC=6.30 [7.21 | | 1]
|104 |AT1000218 | $SIMIT, IMIT, SIMAPA, IMAPA |[MBAC=7.15,NP0=6.40,NPAlegereBac=6.75,NPOBAC=8.30 |7.15 | | | 1]
|105 |AT1000112 | IMIT, IMAPA, $SIMIT, $SIMAPA |MBAC=7.13,NP0O=8.40,NPAlegereBac=6.40,NPOBAC=6.60 |7.13 | | 1]
|106 |AT1000283 | IMIT, SIMIT, IMAPA, $SIMAPA |[MBAC=7.06,NPO=6.30,NPAlegereBac=9.25,NPOBAC=5.65 |7.06 | | | 1]
|107 |AT1208003 | IMIT, IMIT-MR, IMAPA, IMAPA-MR, SIMIT, $IMAPA |MBAC=6.03,NP0=6.50,NPAlegereBac=5.40,NPOBAC=6.20 |6.03 | | MR | 1]
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